
 

njhFg;G : jpU.N.kNf];tud;; , ,urhdatpay; Mrpupau;  (ah/gupNahthd; fy;Yuup)  

         nry;tp.N.fyh ,urhdatpay; Mrpupau;  (ah/,e;J kfsPu; fy;Yuup)  

fzpdp tbtikg;G : jpUkjp.Nf.Nkfyh , j.njh.njh. Mrpupau;  (K/ cilahu;fl;L.k.tp) 

juk;-12,13 
 ,ize;j fzpjk; 

fzj;jhf;F  



juk;-12,13 

njhFg;G : jpU.S.V.kNfe;jpud;. njhz;lkdhW ntspf;fs epiyak; 

fzpdp tbtikg;G : jpU Nt.jNd];Fkhu; , j.njh.njh. Mrpupau; (fpsp/n[aGuk; kfhtpj;jpahyak;) 

fzj;jhf;F (Impulse) nkhj;jy; (Impact) 

fzj;jhf;F : (I) 

Gwtpirapd; jhf;fj;jjpdhy; t Neu Mapilapy; Vw;gLk; ce;jkhw;wk; me;Neu Mapilapy; 

mt;tpirapd; fzj;jhf;F vdg;gLk;. 

m jpzpTs;s Jzpf;ifapd; t Neu Mspilapy; mjd; Ntfk; u tpypUe;J v f;F khWk; Mapd; 

tpirapd; fzj;jhf;F I vdpd; 

  I = mv - mu 

khwtpir F ,dhy; t Neujj;jpy; Ntfk; u ,ypUe;J v f;Fkhw;wk; mile;jJ vdpd;  

  V= u + at 

     

  F = m a I gpuNahfpf;f 

 

 

  F t =  mv - mu 

F = m ( v - u )                                             

  t 

khWk; tpir F Mapd; fzjj;jhf;F    MFk; 
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juk;-12,13 

njhFg;G : jpU.S.V.kNfe;jpud;. njhz;lkdhW ntspf;fs epiyak; 

fzpdp tbtikg;G : jpU Nt.jNd];Fkhu; , j.njh.njh. Mrpupau; (fpsp/n[aGuk; kfhtpj;jpahyak;) 

cjhuzk; : 2kg jpzpTs;s Jzpf;ifapy; Gwtpir xd;iw Fwpj;j Neu Mapilapy; gpuNahfpf;Fk; 

NghJ Ntfk; 6ms-1 ,ypUe;J 15ms-1 ,w;F khWk; vdpy; tpirapd; fzj;jhf;fj;ijf; fhz;f. 4 

nrf;fdpy; ,k;khw;wk; Vw;gbd; tpirapd; gUkidf;fhz;f. 

I = mv - mu 

= 18 Ns 

I = Ft 

18 = F X 4 

F = 9/2 N 
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cjhuzk; : 1/2 kg jpzpTs;s ge;J 12ms-1 Ntfj;Jld; Rtupy; Nkhjp 8ms-1 Ntfj;jpy; 

gpd;dbf;fpd;wJ fzj;jhf;fj;jpidf; 

fhz;f.  

    I = mv - mu 

 

      

    = 10 Ns  

=2 x 15 - 2 x 6 



juk;-12,13 

njhFg;G : jpU.S.V.kNfe;jpud;. njhz;lkdhW ntspf;fs epiyak; 

fzpdp tbtikg;G : jpU Nt.jNd];Fkhu; , j.njh.njh. Mrpupau; (fpsp/n[aGuk; kfhtpj;jpahyak;) 

cjhuzk; : ePu;j;jhiu xd;W nrf;fDf;F 25 l  tPjk; epiyf;Fj;J Rtiu nrq;Fj;jhf 20ms-1 

Ntfj;Jld; Nkhjp Rtu;topNa tope;NjhLfpwJ. Rtupdhy; cz;lhd fzj;jhf;fj;ijAk; Rtu;kPjhd 

cijg;igAk; fhz;f. (1L ePupd; jpzpT = 1kg) 

   I = mv - mu 

   I = 25 x 0 - 25 (-20) 

   =500Ns 

   I =F x t  

   500 = F x 1 

I 

20 

cjhuzk; : xU Jzpf;ifapd; kPjhd fzj;jhf;F I mjd; Ntfj;ij u ,ypUe;J v f;F khw;Wk; 

vdpy; ,af;frf;j;jp khw;wk;                    vdf;fhl;Lf. 

 

   rf;jpkhw;wk;  
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njhFg;G : jpU.S.V.kNfe;jpud;. njhz;lkdhW ntspf;fs epiyak; 

fzpdp tbtikg;G : jpU Nt.jNd];Fkhu; , j.njh.njh. Mrpupau; (fpsp/n[aGuk; kfhtpj;jpahyak;) 

 

cjhuzk; : M jpzpTs;s Jg;ghf;fp m jpzpTs;s Fz;il RLk; NghJ E vd;w ,af;frf;jp 

cUthfpd;wJ. Jtf;F gpd;dbf;Fk; Ntfk;               vdf;fhl;Lf. 

    

 

   I = mv 

    = Mv - mu   

 

   

 

  

)(

2

mMM

mE



22

2

1

2

1
muMvE 

22 )(
2

1

2

1
v

m

M
mMv 










m

M
Mv

2
2

2

1








 


m

Mm
Mv 2

2

1

)(

2

mMM

mE
v




)(

22

mMM

mE
v


/ 

V 

u



juk;-12,13 

njhFg;G : jpU.S.V.kNfe;jpud;. njhz;lkdhW ntspf;fs epiyak; 

fzpdp tbtikg;G : jpU Nt.jNd];Fkhu; , j.njh.njh. Mrpupau; (fpsp/n[aGuk; kfhtpj;jpahyak;) 

- -
 - -

 - -
 - -

 - -
 - -

 - -
 - -

 - -
 - -

 - -
 - -

 - 
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 α 

- - - - - - - - - - - - 
α 

cjhuzk; : M jpzpTs;s Jtf;F m jpzpTs;s Fz;il RLk; NghJ RahjPdkhf gpd;dbf;Fk;. 

Jtf;fpd; Foha; α xw;wf; Nfhzj;jpy; mike;Js;sJ. Fz;L ntspNaWk; jpir fpilAld; 

mikf;Fk; Nfhzk;. Tan-1 y;                                  vdf;fhl;Lf. 

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I = mv 

 = Mv + m(v-u (cos α)) 

(M+m)v = mu Cos α 
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juk;-12,13 

njhFg;G : jpU.S.V.kNfe;jpud;. njhz;lkdhW ntspf;fs epiyak; 

fzpdp tbtikg;G : jpU Nt.jNd];Fkhu; , j.njh.njh. Mrpupau; (fpsp/n[aGuk; kfhtpj;jpahyak;) 

cjhuzk; : KiwNa 2m, m jpzpTs;s A,B vd;w ,U Jzpf;iffs; ePs ,io xd;wpd; Kid-

fSf;F ,izf;fg;gl;L ,io ,Wf;fkhf ,Uf;f fpilj;jsj;jpy; itf;fg;gl;Ls;sJ. AB Ald;  α 

vd;w $u;q;Nfhzj;ij Mf;Fk;. jpirapy; u Ntfj;ij nfhLf;ff;$ba fzj;jhf;F toq;fg;gLfpwJ. 

Jzpf;iffs; ,aq;f Muk;gpf;Fk; Ntfq;fisAk;> ,ioapd; fzj;jhf;fpOitAk; fhz;f.  

α 
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2m B 
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I I 
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A f;F 

B f;F 

I = mv 

I = 2mu1 

 -I = mu1 - mu cos α 

 O = mu2 - mu sin α 

u2 = u sin α 

1 2 + O = 3mu1 - mu cos α 
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njhFg;G : jpU.S.V.kNfe;jpud;. njhz;lkdhW ntspf;fs epiyak; 

fzpdp tbtikg;G : jpU Nt.jNd];Fkhu; , j.njh.njh. Mrpupau; (fpsp/n[aGuk; kfhtpj;jpahyak;) 

M 

I m 

h 
I 

u 

v 

v  - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -  

u  fhd;gjw;F 

v2  = u2 + 2us 

u2  = 0 + 2gh 

 

cjhuzk; : M jpzpT NkirkPJ xa;tpYs;sJ. ePs ,ioapy; xUKid M f;F ,izf;fg;gl;L 

epiyahd xg;gkhd fg;gp Nkyhf nrd;W kWKidapy; m(<M) jpzpT ,izf;fg;gl;L mJ 

Nkirapd; NkYs;sthW ,ioapd; gFjpfs; epiyf;Fj;jhf cs;sJ. m jpzpT h cauj;Jf;F 

Muk;gepiyapypUe;J cau;j;jg;gl;L tplg;gLfpd;wJ.  

i.  M jpzpT NknyOk;Gk; Ntfk; ahJ 

ii. ,ioapd; fzj;jhfj;ijf; fhz;f. 

iii. m tplg;gl;L            Neuj;jpwd;gpd; njhFjp fz epiy xa;Tf;F tUk; vdf;fhl;Lf. 
g
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njhFg;G : jpU.S.V.kNfe;jpud;. njhz;lkdhW ntspf;fs epiyak; 

fzpdp tbtikg;G : jpU Nt.jNd];Fkhu; , j.njh.njh. Mrpupau; (fpsp/n[aGuk; kfhtpj;jpahyak;) 

M f;F 

-I = m (v - u) 

O = Mv + m ( v - u ) 

(M + m) V = m u 

gh
mM
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v 2
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fzj;jhf;fj;jpd; gpd; ,Oit T, Mu;KLfy; 

M f;F 
mg - T =  ma 

T - Mg = Ma 













 g

mM

Mm
gm

T 

T 

m 

mg 

a+ 
a 

mg 

1 

2 

I = mv 
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